ENGLISH
Class 9: C
Chapter 1: The Fun They Had
By Sir Dabin

Question 1:

Answer these questions in a few words or a couple of sentences each.

1.How old are Margie and Tommy?

# Margie is eleven while Tommy is thirteen years old.

2. What did Margie write in her diary?

# Margie wrote in her diary, “Today Tommy found a real book!”
3. Had Margie ever seen a book before?

#No, Margie had never seen a book before.

4. What things about the book did she find strange?

# Margie found it strange that the words printed on a book stood still instead of moving the
way they did on a screen. She also found it odd that the words on a page always remained the
same as the first time they were read. Besides, the idea that someone would write a book
about schools was itself strange for Margie.

5. What do you think a telebook is?

# A telebook is a book that can be read on screen. Words move on the screen for the readers
to read.

6. Where was Margie’s school? Did she have any classmates?

# Margie’s school was in her home itself, right next to her bedroom.
No, she did not have any classmates.

7. What subjects did Margie and Tommy learn?

# Margie and Tommy learnt geography, history and arithmetic.



Question 2:

Answer the following with reference to the story.

1. “I wouldn’t throw it away.”

(1) Who says these words?

(i1) What does ‘it’ refer to?

(i11)) What is it being compared with by the speaker?

#1.

(1) Tommy says these words.

(i1) ‘It’ refers to the television screen.

(i11)) Tommy is comparing the television screen with printed books of the earlier times.
2. “Sure they had a teacher, but it wasn’t a regular teacher. It was a man.”
(1) Who does ‘they’ refer to?

(i) What does ‘regular’ mean here?

(i11) What is it contrasted with?

#2.

(1) The word ‘they’ refers to the students who studied in the old kind of schools, centuries
before the time the story is set in.

(i1) Here, the term ‘regular’ refers to the mechanical teachers that Tommy and Margie have.

(ii1) The mechanical teacher is contrasted with the teacher of the earlier times, who was a
man.



Question 3:

Answer each of these questions in a short paragraph (about 30 words).

1.What kind of teachers did Margie and Tommy have?

# Margie and Tommy had mechanical teachers with large black screens that flashed lessons
and questions. These teachers had slots where the students had to put their homework and test
papers.

2. Why did Margie’s mother send for the County Inspector?

# Margie had been consistently failing to perform well in the geography tests given by her
mechanical teacher. In order to find out the reason behind this, her mother sent for the County
Inspector

3. What did he do?

# The County Inspector took apart the teacher and after examining it, assembled it again. He
slowed up the geography sector of the teacher because it was 'geared up a little too quick' for
an average ten-year old.

4. Why was Margie doing badly in geography? What did the Country Inspector do to help
her?

# Margie was doing badly in geography because the geography sector of the mechanical
teacher had been adjusted at a higher level.

In order to help her, the County Inspector slowed down this sector to an average ten-year
level.

5. What had once happened to Tommy’s teacher?

# Once, Tommy’s teacher was taken away for nearly a month because its history sector had
blanked out completely.

6. Did Margie have regular days and hours for school? If so, why?

# Yes, Margie had regular days and hours for school. The mechanical teacher always turned
on at the same time every day except Saturdays and Sundays. This was because her mother
believed that learning at regular hours helped little girls learn better.



7. How does Tommy describe the old kind of school?

# Tommy says that the old kind of school existed 'centuries ago'. They had a teacher, who
was a man. This teacher taught in a special building, where all the kids assembled and learned
the same things according to their respective ages.

8. How does he describe the old kind of teachers?

# Tommy says that the teacher of the old kind were men, who taught the students inside a
special building. The teachers taught the children in groups and gave them homework and
asked them questions.

Question 4:

Answer each of these questions in two or three paragraphs (100 — 150 words)

1.What are the main features of the mechanical teachers and the schoolrooms that Margie and
Tommy have in the story?

# Margie and Tommy had mechanical teachers. These teachers were basically large black
screens on which the lessons were shown and questions were asked. These teachers were
adjusted according to the age and potential of the student concerned. They had a slot in which
the students had to put their homework and test papers. The mechanical teacher immediately
calculated the marks for the answers written in punch codes by the students. However, these
teachers were prone to technical and mechanical failure and troubles.

Their schools were in their homes itself. In fact, Margie’s school was right next to her
bedroom. Students did not have classmates. They had regular days and hours for school. The
mechanical teacher always turned on at the same time every day except Saturdays and
Sundays.

2.Why did Margie hate school? Why did she think the old kind of school must have been
fun?

# Margie hated school because it was not fun. She hated the large black screen and the way
she had to insert the homework and test papers in the slot on the mechanical teacher. She
disliked fact that she had to write her answers in a punch code. Besides, her hatred for school
was amplified by her failure to fare well in the geography tests given by her mechanical
teacher.

Margie imagined the old kind of school with kids from the entire neighbourhood coming
together, laughing and shouting in the schoolyard. She imagined that they would sit together



in the classroom and go home together at the end of the day. They would learn the same
things and could help one another with the homework. Also, the teachers were people,
making the learning process more interactive. All these aspects made her believe that the old
kind of school must have been fun.

3. Do you agree with Margie that schools today are more fun than the school in the story?
Give reasons for your answer.

# Yes, I agree that schools today are more fun than the school in the story. Studying and
answering questions seems to be a boring idea without the presence of classmates. Writing
homework in punch codes and that too without anybody’s help would be draining. Children
develop a better understanding about each other and their surroundings when they go to a
school and interact with others.

Human teachers are people are more understanding and accommodating than mechanical
ones that are programmed to teach in a specific way. The excitement in waiting for the marks
scored in exams is greater when one is sitting in a classroom with fellow students. It does not
have the same effect when marks are calculated immediately after a test has been taken.
Therefore, schools today are more fun than the school in the story as they are more
interactive and promote a healthier way of learning.
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Assignment Solutions

Multiple-Choice Questions (MCQs)

1.

Which of the following example is not a

communication skill?
a. Laughing b. Swimming

c. Asking question d. Watching television

If you don’t agree with someone, what would you
say?

a. You are wrong b. Idon’t agree.

c. Stop talking rubbish. d. None of these

refers to a process that puts
thoughts in a framework of symbols or words.

b. Receiver

d. Feedback

Post office, Internet, and radio are examples

a. Encoding
c. Decoding

a
b. Message

c. Communication Channel
d. Feedback

implies that communication
should contain all the information necessary to get
the desirable response from the sender.

a. Clarity

b. Consideration

c. Conciseness

d. Completeness

............................... A N s w E R s
1.b. 2. b. 3. a. 4.¢ 5.d.

Very Short Answer Questions

1.

Ans.

What is the full form of SWOT?
The term SWOT stands for:

O S- Strengths

O W- Weaknesses

O O- Opportunities

O T- Threats.

Ans.

Ans.

Define formal communication.

. The communication held in a formal format or pattern that

is acceptable in an organization or social setup is known as
the formal communication.

What is informal communication?

. The communication carried out in a free and uninhibited

manner between two agents, parties, or people who share
a good rapport with each other is known as the informal
communication.

What is upward communication?

The communication that flows from a lower level to upper
level of the organizational hierarchy is referred to as the
upward communication.

Define downward communication.

The communication that flows from upward to downward
level of organizational hierarchy is referred to as the
downward communication.

Short Answer Questions-I

1.
Ans.

Ans.

Ans.

Explain the importance of communication.

Good communication skills are prerequisites to one’s
personal, academic, and professional success. In an
organizational context, communication involves conveying
orders, instructions, and information to achieve the
desired level of employees’ performance.

What is the role of communication in business?

Communication is an important tool to exchange ideas.
In business, communication is used to exchange ideas
between clients and vendors, so that they reach to a final
conclusion. Communication also helps to strengthen the
relationship among various professionals in the business
domain by exchanging their experiences and opinions.

Define an adverb.

An adverb is a word that modifies the meaning of a verb,
an adjective, or another adverb. For example, in the
sentence “You run quickly.”, the word quickly is used to
modify the verb, run, quickly will be an adverb.

Short Answer Questions-II

1.
Ans.

Explain different forms of non-verbal communication.

Non-verbal communication can be broadly categorized in
two categories:

O  Written Communication: Involves the use of emails,
articles, reports, and memos. Written documents
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need to be edited a number of times before they are : o

conveyed to the intended individual whether within :

or outside the organization. Written communication

may also be used for the purpose of informal

communication, for example, mobile Short Message :

Service (SMS). o
O Visual Communication: Involves the visual display of :

information, such as photos, formats, signs, codes,

symbols, and designs. For example, television, DVDs, :

CDs, and other audiovisual aids of communication : o

represent visual communication :

Proper noun

For example, in the sentence, “Mrinalini has gone
to Kashmir”, the words ‘Mrinalini’ and ‘Kashmir’ are
proper nouns.

Collective noun

For example, in the sentence, “The committee has
reached its decision”, the word ‘committee’ is a
collective noun.

Abstract noun

For example, in the sentence, “Beauty lies in the eyes
of the beholder”, the word ‘beauty’ is an abstract
noun.

2. What are the various objectives of communication?

Ans. The following are the objectives of communication:

O Clarity: Requires the use of a simple language for O Countable noun

communication For example, in the sentence, “The oak tree lost three
branches in the hurricane”, the words ‘oak tree’ and

‘branches’ are countable nouns.

O Completeness: Implies that communication should
contain all the information necessary to get the

desirable response from the sender O Uncountable noun

O Conciseness: Implies that the message should be free
from superfluous details, which helps in saving the
time of both, the sender and the receiver

For example, in the sentence, “Oxygen is essential
to human life”, the word ‘oxygen’ is an uncountable
noun.

O Consideration: Requires preparing the message ' 5

. L Write a short note on verb and its types with
keeping the recipient in mind

examples.
A verb is a word that tells about the action or affirms
something about a person or a thing. It is the most
important part of a sentence. Consider the following
examples:

O Correctness: Implies that the message should state

accurate facts and figures Ans.

O Concreteness: Implies that the message should be
specific and to the point
O Courtesy: Constitutes one of the important elements

. . L O Sachin plays football.
of an effective business communication play

O He eats mango.

3. What are the various types of communication? In the preceding examples, the words ‘plays’” and ‘eats’ are

verbs as they show the action. Note that a verb has an
important relation with time. It is through the verb used in
a sentence that we can understand something has already
happened, is happening now, or will happen in future.

Ans. The various types of communication can be explained as

follows:
O On the basis of channel used:
e Formal communication

o Informal communication 6. Explain adverb with some examples

O On the basis of direction: Ans. An adverb is a word that modifies the meaning of a verb,
e Upward communication an adjective, or another adverb.
o Downward communication Consider the following examples:
e Horizontal communication ©  You run quickly.
e Diagonal communication O This is a very sweet apple.
O On the basis of means used: O Ramesh reads quite clearly.
e Verbal communication In the preceding examples, the words quickly, very, and
e Non-verbal communication quite are used to modify the verb, adjective, and adverb,
. L respectively, so they are called adverbs.
e Written communication
e Visual communication 7. What is a pronoun? Explain with example.
Ans. A pronoun is a word that can replace a noun or another

4. Explain different kinds of nouns with examples.

Ans.

The different types of nouns are briefly explained as

follows:

O Common noun

For example, in the sentence, “The cat is sleeping on
the floor”, the word ‘cat’ is a common noun.

Information Technology

pronoun. In other words, a pronoun is a word used instead
of a noun. It helps in avoiding the repeated use of nouns.
Consider the following examples:

O Tell him to come back soon.
O They are waiting for the train.
In the preceding sentences, ‘him’ and ‘they’ are pronouns.



8.
Ans.

Briefly explain interjection with examples.

An interjection is a word that is used to express sudden
feeling or emotion. It is not grammatically related with
any other words in the sentence. An interjection is usually
followed by an exclamatory mark. Some common examples
of interjections are Hi! Bravo! Cheers! Hurrah!, etc.

Long Answer Questions

1.

Ans.

Ans.

Ans.

Describe the role of different elements of a
communication cycle.

The following are the different elements of a

communication cycle:

O Sender: Refers to a party or agent who sends the
intended message to another party or agent. Sender
is also referred to as a source in the process of
communication.

O Ideas or Message: Refers to the subject matter that the
sender wishes to convey to the receiver. It may be an
opinion, attitude, feeling, view, order, or suggestion.

O Encoding: Refers to a process that puts the thoughts
in a framework of symbols or words.

O Communication Channel: Refers to the channel
responsible for the delivery of the message. For
example post office, Internet, and radio.

O Receiver: Refers to a party or agent who receives the
sent message. The receiver is also called the audience
or destination.

O Decoding: Refers to the process of deciphering the
received message and understanding its intended
meaning.

O Feedback: Refers to the response of the receiver to the
message of the sender. This part of the communication
cycle establishes a two-way communication between
the receiver and the sender.

Explain an adjective and its different kinds with

examples.

An adjective is a word used with a noun to describe the

quality, quantity, characteristics, and nature of the noun

that it qualifies. Adjectives can be further divided into

different classes. The following are the different kinds of

adjectives and their examples:

O Adjectives of quality. E.g. Ram is an honest man; Delhi
is a large city.

O Adjectives of number. E.g. Ravi has two sisters; A hand
has five fingers.

O Demonstrative adjectives. E.g. that boy is lazy; These
apples are sweet.

O Interrogative adjectives. E.g. What kind of man is he?;
Whose pen is this?

Explain the use of preposition with examples.

A preposition is a word that shows the relation of nouns,
pronouns, and phrases with the other words in a sentence.

Ans.

Ans.
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Consider the following examples:

O There is a fish in the bottle.

O The boy jumped into the river.

In the first example, the word ‘in’ shows the relation

between a fish and a bottle, while in the second example,

the word ‘into’ shows the relation between a boy and a

river. Therefore, the words in and into are the prepositions

in the given sentences. Some basic rules of using a

preposition in a sentence are as follows:

O A preposition may have two or more objects. For
example: The horse runs over hill and plain.

O A preposition is often used before its object, but
sometimes it is used after the object.

O The prepositions for, from, in, and on are sometimes
omitted before nouns of place or time. For example:
You did it last Monday.

O Some words are used sometimes as adverbs and
sometimes as prepositions.

Compare and contrast coordinating conjunction and
subordinating conjunction.

A coordinating conjunction is a type of conjunction that
joins two independent clauses of equal rank. It joins
the elements of equal structure and importance. Some
examples of coordinating conjunctions are ‘and, but, for,
or, nor, also, either-or, neither-nor’. For example: Mukesh
sings and Nikhil swims. I like tea, but my brother likes
coffee.

In the preceding examples, two independent statements
or two statements of equal rank are joined by the words
‘and’ and ‘but’. Therefore, the words ‘and’ and ‘but’ are
coordinating conjunctions.

A subordinating conjunction is a type of conjunction that
joins two statements or clauses in which one statement
or clause is dependent on the other. Some examples of
subordinating conjunctions are ‘after, because, if, that,
though, although, till, before, unless, as, when, where,
and while’. For example: Sandeep plays football because
he likes it. You will pass if you work hard.

In the first sentence, the clause or statement ‘because he
likes it’ is dependent on the other statement or clause
‘Sandeep plays football.” Again, in the second sentence,
‘if you work hard’ is dependent on ‘you will pass.’
Therefore, the words ‘because’ and ‘if” are subordinating
conjunctions.

What are the different ways to enhance the
interpersonal skills of the employees of an
organization? Explain.

For building good personal professional relations, you
require good interpersonal skills for which, you need to
have excellent communication skills. In an organizational
context, communication involves conveying orders,
instructions, and information to achieve the desired level
of performance of employees. However small or big a

Communication Skills — |
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Ans.

Ans.

4

business may be, its success depends on the efficiency
of its communication system, both within and outside
the organization. Where proper communication results
in clarity and shared understanding between managers
and employees, inaccurate or ineffective communication
may lead to conflicts within the organization and loss of
goodwill outside it.

What is the role of non-verbal communication in the
success of an organization? Explain with examples.

Non-verbal communication is the kind of communication
that involves various characteristics, such as tone of
the voice (inflexions), smell, touch, and body motion.
Such communication may involve symbols and sign
languages that do not require words to be conveyed. In an
organization, where there must be good communication
among people, non-verbal communication increases
clarity, interest and trust to one’s way of presentation of
thoughts. The following are some points that make non-
verbal communication significant in any organization:

O It reinforces what has already been said.

o}

It can communicate ideas without using any words.
It can add extra value to a verbal message.

o O

It can be used to emphasize a particular section of
verbal information.

Explain in detail the principles and functions of
business communication.

The following are the seven principles of business
communication and their functions:

O Clarity: Requires the use of a simple language for
communication.

O Completeness: Implies that communication should
contain all the information necessary to get the
desirable response from the sender. On the other
hand, the sender should answer all the questions
asked by the receiver and pay attention to all minute
details.

O Conciseness: Implies that the message should be free
from superfluous details, which helps in saving the
time of both, the sender and the receiver.

O Consideration: Requires preparing the message
keeping the recipient in mind. A sender, while sending
the message should take into consideration the views,
thoughts, background, mindset, and education level of
the receiver and vice versa.

O Correctness: Implies that the message should state
accurate facts and figures.

Information Technology
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O Concreteness: Implies that the message should be
specific and to the point. The details provided in the
message should be definite and vivid.

O Courtesy: Constitutes one of the important elements
of an effective business communication.

What is a paragraph? What are the elements that are

essential to good paragraph writing?

A paragraph is a set of sentences focusing upon a single

idea or train of thought. Ideally, a paragraph should be

around 5-7 sentences containing the topic sentence, 3-5

supporting sentences and a concluding sentence. The

following are the four elements that are essential to good
paragraph writing:

O Unity: After introducing the main topic of the
sentence, each subsequent sentence should elaborate
and provide more detail to that topic, giving the
paragraph unity.

O Order: The way sentences are organized in a
paragraph is known as its order. For example, you can
choose to write your ideas in the order of importance,
chronological order, or another logical presentation.

O Coherence: It implies that every sentence in your
paragraph should be logically connected to the
sentence that precedes it. Coherence of ideas makes
your work understandable.

O Completeness: A paragraph is called complete if all
the sentences in it clearly and sufficiently support the
main idea.

Higher Order Thinking Skills (HOTS) Questions

1.

Ans.

Fill in the blanks using the given words:

Audience, sender, message, encoding, response,
communication, feedback channel
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Class 9 Information Technology Part B Unit 6 Introduction to IT/ ITeS

Ql. Whatis IT?

Answer: Information Technology (IT) means creating, managing, storing and exchanging information. IT
includes all types of technology used to deal with information, such as computer hardware and software
technology, used for creating, storing and transferring information.

Q2. What is ITeS?

Answer: ITES stands for Information Technology Enabled Services. It includes a wide variety of
operations which uses information technology to improve the efficiency of an organization.

Q3. Difference between IT and ITeS.

Answer:

IT stands for Information Technology.
ITES is for information technology enabled services.

IT is the study of the design, management, development, implementation, and support of computer-
based information systems, typically about computer hardware and application software.

ITES is part of IT. ITES Self means IT with enabled services. ITES is the study of outsourced service which
has arisen due to involvement in various fields of IT such as banking and finance, BPO, call centres, etc

Q4. What is BPO?

Answer: BPO is business process outsourcing, which technically means giving your backend processes to
another company (vendor) to perform on their behalf.



Benefits of BPO:

Financial Benefits: BPO often provides a business process at lower costs. They save the results from one
organisation and use it for another organisation in one way for another. This saves money.

Flexibility: BPO provides great flexibility to changing market and needs adjusts to the environment.

Competitive advantage: BPO allows organizations to focus on their main targets and takes the processes
that are not core to them and do it very professionally, efficiently and qualitatively in a competitive
environment.

Risks of BPO

Security breaches: Organisations share regular and potential data with BPOs.

Relationship challenges: Organisations can face communication problems like what to share and what
not to share with BPOs. Some critical information may be important to the BPOs to make a decision.

Q5. What is the role of BPO in the growth of Indian Economy?

Answer: The role played by BPOs in boosting India’s economy shows that the IT and ITeS sector have
been contributing largely to the economic growth of India. The growth in the contribution of BPOs to
Gross Domestic Product has shown a steady rise from 1.2% to 5.4%. It is hence evident that the BPO
industry is making an impact on the Indian economy.

Q6. Multiple Choice questions:

includes all types of technology used to deal with information.

IT b. MRI c. None of these

Answer: a. IT

Computers works on the principal of input, and output.

Memory b. Processing c. None of these



Answer: b. Processing

Q7. Give some examples of fields where ITeS are used.

Answer: Customer Relationship Management (voice and non-voice services), Medical Transcription,
Back Office Support, Software development, IT help desk services, business transformations, Finance /
Account etc.

Q8. Give examples of some BPO services.

Answer: Some BPO services are : Financial and Accounting services, Taxation and Insurance services, E-
Publishing and Web Promotion, Multimedia and design services, Document management services,
Software testing services, Health Care services etc.

Q9. What is BPM?

Answer: Business Process Management (BPM) is a process in which people use various methods to
analyze, measure, improve and optimize the process. Sometimes people even end up discovering new
business processes. The foremost aim of a BPM is to improve the corporate performance by managing
the business processes.

School management system is a good example of BPM.

Q10. What are the life Cycle of BPM?

Answer:



Design: Break the process into multiple tasks.

Model: Model it using suitable BPM software.

Execute: Execute the processes or put a system in place.
Monitor: Monitor and analyze the system.

Optimize: Make change to the process to improve it.

Q11. What are the categories of BPM?

Answer: Categories of BPM are as follows:

Integration Centric BPM: An Integration Centric BPM is a fully integrated approach to building and
promoting desktop and Internet applications. It is used when there is a need for BPM and the service-
oriented architecture. It conveniently updates the applications and can also monitor the varying market
conditions.

Human Centric BPM: It is an approach that focuses on the tasks, activities and human skills in process, to
create other automated functions to support these human actions.

Document Centric BPM: It is a process that is inclined towards the document management. It has very
little to do with people or processes. This type of BPM services are generally used for routing,
collaborating or approving documents.

Q12. What are the structure of the IT-BPM industry?

Answer: The structure of the IT-BPM industries are as follows:

Sector the organization is serving.

Type as well as range of offering the organization provides.
Geographic spread of operations.

Revenues and size of operations.

Q13. What are MNCs. Give one example.



Answer: A Multinational Company (MNC) generally has offices and/or factories in different countries
and a centralized head office where they coordinate global management.

Q14. What is Indian Service Providers?

Answer: Their headquarters are mostly in India and they operate in other countries. They have main
focus on Indian customers.

Example: Reliance.

Q15. Multiple Choice Questions:

BPM stands for

Business Process Market
Business Process Management
None of these

Answer: b. Business Process Management.

organizations cater the needs of their parent company only and do not serve external
clients.

GIC b. MNCs c. ISPs

Answer: a. GIC (Global In-house Centers)

Q16. Write the uses of MRl machine.



Answer: MRI (Magnetic Resonance Imaging Machine) machine are used to give the digital impression of
internal organs of the body by using strong magnetic fields and radio waves. The digital images are very
helpful in the detection and treatment the diseases.

Q17. What is e-governance?

Answer: Electronic governance or e-governance is the application of information and communication
technology (ICT) for delivering government services, exchange of information, communication
transactions, integration of various stand-alone systems between government to citizen (G2C),
government-to-business (G2B), government-to-government (G2G), government-to-employees (G2E) as
well as back-office processes and interactions within the entire government framework.

Q18. How is ICT used in classroom?

Answer: There are many ways in which ICT is used in a classroom, such as:

Smart classes

Presentation with animation and text

Experimental videos

Simulations

Images as Teaching Learning materials

Desktop publishing for magazines, letters and newspapers.
Educational games.

Q19. Explain the contribution of IT in education.

Answer: Using IT the teachers can create interesting audio and visual presentations which will keep the
students engaged and will give them a greater understanding of all the concepts. Using Information
Technology, the whole classroom can be digitalised thus making both teaching and process of learning
much easier.



Q20. Explain the use of IT in library.

Answer: IT makes library work easier, faster, cheaper and more effective. Helps to manage information
overload as information retrieval is made easier in computerized systems. Computerization saves space
and reduces paper.

Q21. Explain the significance of IT in business.

Answer: IT is used in business to prepare a budget, management, payroll preparation, financial decision
making, stock management, online sale and purchase of things. We can see product details or the
demonstration online, pay online and product will be delivered to our doorstep. The number of goods
can also be managed by computers.

Q22. Briefly explain different ways in which IT is used in healthcare services.

Answer: IT used in healthcare sectors in many ways. Hospital Management System is used to maintain
patient’s records, patient’s admissions, patient’s billing, patient’s discharge report etc. The
computerized machines are used for ECG, EEG, MRI, Ultrasound and CT scan, Nowadays, robots are used
for operations.

Use of IT in diagnosis: High tech machines are used to treat critical diseases. Diseases like cancer are
treated with computer aided machines.

Computerized Axial Tomography (CAT) Machine: 3D images of different parts of the body can be taken
by using this machine. These images are helpful in the diagnosis of many diseases.

MRI (Magnetic Resonance Imaging Machine): MRl machine are used to give the digital impression of
internal organs of the body by using strong magnetic fields and radio waves. The digital images are very
helpful in the detection and treatment the diseases.

Electrocardiogram (ECG) Machine: Hearts pumps blood to different part of the body, this produces some
electrical impulses. ECG machine records these electrical impulses and shows it in the form of graph.



Cardiac Screening Machine: The physiology of heart and the movements inside heart can be seen by
using this machine. Many problems likes thinning of veins can be diagnosed and treated using this
machine.

Blood sugar testing devices: Now we can test the level of glucose in a person’s blood where sample can
be taken on a strip and tested on a machine.

Blood pressure measuring machine: Blood pressure can be checked from wrist band which can be worn
on the wrist and a device attached shows blood pressure.

Q23. Write a short note on the following:

IT in Science and Engineering:

Answer: Science needs precision in calculations which are very complex. Scientists use Computer Aided
Design (CAD) for drawing 3D objects and used Computer Aided Manufacturing (CAM) for showing result.
The result can be drawn, designed and tested. Result can be printed on a paper or can be saved for
future use. 3D visualization is possible because of computer. Complex scientific applications like rocket
launching. Space exploration etc. are not possible with the use of computers. Robots are excellent gift of
science and technology.

Q24. Multiple choice questions:

Which of the following shows the use of computer at home?
Watching movies b. Treatment of diseases c. None of these

Answer: a. Watching movies.

machine is used to monitor the heartbeat.
MRI b. ECG c. None of these

Answer: b. ECG

ATM stands for

Automated Teller Machine



Automatic Transaction Machine
None of these

Answer: a. Automate Teller Machine

Which of the following scenarios can be overcome by using BPM?
Less errors b. Time wastages c. None of these

Answer: a. Less errors

Q25. What is LMS (Learning Management System)?

Answer: Learning Management System is a software-based platform where audio, video lectures and
assignment is provided online in which, we can attend classes, takes exams and see the results while
sitting at home. We can also participate in co-curricular activities online. Even parents can view or
monitors our report online.
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Class IX

ECONOMICS

Chapter 2: People as Resource

Page:27

Answer 1: The people of the country are its valuable resources, if they are healthy, educated and skilled.

No economic activity is possible without human resource. It works as labour, management and
entrepreneur in all the economic activities and as such it is indispensable factor of production.

Answer 2: Human resource is different from other resources on the following basis:

(a) Human resource is living, active and sensitive factor of production.

(b) Human resource extracts work and activates other factors.

(c) Human resource works as labour, management and entrepreneur.
Similar Question

e How is human resource different from other factors of production? Explain it in three
points

Answer 3:Education is an important factor for the development of human resource.
*Education -general, technical and medical improves the level of understanding.

*|t also adds to the capacity of human stock to produce more. It increases the mental efficiency of the
people.

Education can play an effective role in raising production from its low level. General and technical
education develops the efficiency among the labourers to use highly advanced techniques of production
for the optimum use of the existing resources.

Education builds healthy human capital to handle the press pressure of challenging jobs.

Answer 4: Health is the basic constituent of human capacity. Human element is an essential.
*In spite of all technological development human resource is still an indispensable factor of production.
*The economic growth can be achieved at faster rate, if we are healthy and competent enough.

*As the old proverb goes, ‘a sound mind live in a sound body', so physical health leads to mental
sounness.

*Both combined together increase the productivity and efficiency of human resource.



Answer 5: Health plays crucial part in individual's working life:

(a) It helps a person to fight ilness.

(b) It creates well being of human life.

(c) Itadds to the quality of life of an individual.

(d) It adds value to the human resources of the country.

Answer 6: Following activities are undertaken in the primary, secondary and tertiary sectors:

(a) Primary Sector . Farming, mining, fishing, foresting, animal husbandry, flower cultivation etc.

(b) Secondary Sector. Construction work, manufacturing, tailoring, working in industry like working
in match factory etc.

(c) Tertiary Sector, Banking, transportation, insuranc, communication, financing, courier, astronaut
etc.

Answer 7: Economic activities: Activities performed to earn livelihood and having economic motive are
termed as economic activities. These activities are concerned with the production, exchange and
distribution of goods and services. The engagement of people in business, profession and employment
are economic activities. These activities are rewarded in monetary terms.

Non-economic activities: Activities performed to satisfy emotional and psychological needs and having
no economic motive behind them are known as non -economic activities. These activities may be social,
cultural, religious, educational and charitable.

Answer 8: Women are paid low as compared to men.
*The major reason for this is that women have meagre education and low skill formation.

*Also, in unorganized sector there is a general bias towards women workers who are not highly
educated and skilled.

*Physical and emotional weakness, non suitability for hazardous work and social restrictions also add up
to the reason that women are employed in low paid work.

Answer 9: Unemployment is a situation, wherein the able bodies persons, willing to work are not able to
find a job that earns them living.

*According to this definition those, who are permanently incapable and mentally retarded cannot
perform any job, so they should be excluded from the list of unemployed.

*There may be still others, who may not be willing to perform any job and thus they can also not be
treated as unemployed.

*In other words, usual status of unemployment refers to the number of persons who are willing to work
for major part of the year |, e., 183 days and more but do not get work.

Answer 10: Unemployment is a situation in which a person is willing to work at prevailing wages, but
does not get any job.

Disguised unemployment: It is a situation, wherein marginal physical productivity of labour is zero.



*In other words, where more people are put in a job than actually required are called disguised
unemployed.

*|t is invisible and found among wage earners, mostly in agriculture.

Seasonal unemployment: Getting employment only for the part of the year in certain sectors, such as
agriculture is known as seasonal employment.

*|t is not a regular source of earning and the person has to find an alte job for all season time.

Answer 11: A large number of matriculates, grad graduates and even engineers are unemployed. Rate of
unemployment is higher among graduy and post -graduate as compared to matriculate. Educated
unemployment is a peculiar problem in India due to following reasons:

*They feel themselves burden on their family and are stressed.
*Their skill and power are not being used by Nation, which otherwise may increase national income.

*|t creates dissatisfaction amongst the youth that education in India does not provide enough
opportunity for utilization of their talent.

*It also puts a question mark on the education system in India that it is not able to produce employable
human resources in the economy.

*It also causes the skilled labour to leave the country and join employment in developed country whii
results in the outflow of domestic talent a foreign country.

Answer 12: India can build the msxi employment opportunity in the service sector. Land has its
limitations. It can’t be increased. Industry requires vast resources, which we cannot easily afford. We
have got large population, which needs to be properly educated and developed into professionally
qualified and skilled work force. Such people will have intery market and can be absorbed in any
country.

Answer 13: Education, which claims to add to the productivity of the people proves to be curse, when
these educated people do not find a job. The following measures are suggested to solve the problem of
educated unemployed.

Answer 14: Yes, we can imagine some bill villagers, which initiatially had no job opportunity but later
came up with many.

*|t was made possible by providing education to village people.
*Educated people got absorbed in teaching profession.
* Girls were trained in stitching and tailoring job emerged.

*The village boy qualified as agro-engineer, revolutionised the cultivation. It increased production and
marketing for the surplus production also absorbed some people. All these jobs could be created by
improving the quality of human resource.

Answer 15: We shall consider Human Capital as the best because:



*Land, being fixed cannot bt expanded. *Physical capital is itself man-made.

It requires vast resources and cannot be increased beyond certain limit.

*Human capit can be developed to any extent and its return can be multiplied many times.
*Physical capital is generated, managed and controlled by human capital.

*Hut capital not only works for himself but also activates other sources.

*Human capital is | dispensable factor of production.



Class 9

History

Section I: Page 25:

. Socialism in Europe and the Russian Revolution
Page 48:

Answer 1: SOCIAL CONDITIONS: 85% of Russia's population was agriculturist. The industry was existent,
but rarely in which most of was privately owned. Workers were divided on the basis of their occupation.
They mainly migrated to cities for employment in factories. The peasant community was deeply religious
but did not care much about the nobility. They believed that land must be divided amongst themselves.

ECONOMIC CONDITION :Russia was going through bad period economically. Pricet of essential good
rises while real wages decrease d by 2% leading to the famous St. Petersburg strike.This strike started a
series of events that are together known as the 1905 Revolution. During this revolution, there were
strikes all over the cou country, universities close closed down, and various professionals and workers
established the Union of unions, demanding the establishment of a constituent assembly.

POLITICAL CONDITION : POLITICAL Parties were illegal before 1914 . The Russian social Democratic
workers Party was founded in 1898 by socialists who respected Maary's ideas. In 1903, this party was
divided into two groups Mensheviks and Bolsheviks. The Bolsheviks. Who were in majority, were led by
Lenin who is regarded as the greatest thinker socialism after Marx.

Answer 2: The working population in Russia was different from other countries in Europe before 1917
because not all Russian workers migrated from the villages to work in the industrial sector. Some of
them continued to live in villages and went to work daily, to the towns. They were a divided group,
socially and professionally, and this showed in their dress and manners too. Metal workers were the
“aristocrats” of the working class because their occupation demanded more training and skill.
Nevertheless, the working population was United on one front strikes against work conditions and
employer tyranny.

Answer 3: The Tsar first dismissed the initial two Dumas and then packed the parliament with the
conservatives. During the First world War, the Tsar took decisions without consulting the Duma. Large
scale casualties of Russian soldiers in the war further alienated the people from the Tsar Burning of
crops and buildings the retreating Russian armies created a huge shortage of food in Russia. All of these
led to the collapse of the Tsarist autocracy in 1917.

Answer 4: February Revolution :

*22" February: Factory lockout on the right bank took place.

*25% February : Duma was dissolved

*27" February :Police Headquarters ransacked Regiments the workers.

*2" March : The Tsar abdicated his power. The Soviet ai Duma leaders formed a Provisional
Government for Russia.



The February Revolution had no political party at its forefront. It was led by the
people themselves. Petrogrand had brought down the monarchy, and thus, gained a significant place in
Soviet history. Trade Unions grew in number.

OCTOBER REVOLUTION
*16'" October: A Military Revolutionary committee was appointed by Soviet.

*24'™ October: The uprising against provisional government begins Military Revolutionary Committee
controls the city by night and ministers surrender. The Bolshevik gained power.

The October Revolution was primarily led by Lenin and his subordinates.
Trotshu and involved the masses who supported these leaders. It marked the beginning of Lenin’s rule
over the Soviet, with the Bolsheviks under his guidance.

Answer 5: The main changes which were brought about by the Bolsheviks immediately after the October
Revolution.

*Banks and Industries were nationalised.

*Land was declared social property thereby allowing peasants to seize it from the nobility.

*In urban areas, houses were partitioned according to family requirements.

*0ld aristocratic titles were banned, and new uniforms were designed for the army and the officials.

*New uniforms were introduced for the army and the officials.

Answer 6: *(a) KULAKS:*Wealth peasants who Stalin believed were hoarding the grains to gain more
profit.

*When the towns faced scute shortage of grains, Kulaks, were, through to be responsible behind it.
*Stalin thought it was necessary to eliminate them so that farms could bt modernised.
(b) THE DUMA:

Answer: In 1905, Tsar allowed the creation of an elected consultative Parliament or Duma. The Tsar
dismissed the first Duma within 75 days and re-elected the second Duma within three months. Tsar did
not want anyone to question his authority or undermine and reduce his powers. Tsar changed the voting
laws and packed the Third Duma with conservative policians. Liberals and revolutionaries were kep out.

(c ) WOMEN WORKERS BETWEEN 1900 AND 1930
Answer:

*Their wages were less than the wages of men.
*They formed 31% of the factory workforce.

(d) THE LIBERALS



Answer: They considered all religious as equal.

gr*They believe only men who have property had the right to vote

*They wanted an elected form of Parliamentary governance.

STALIN'S COLLECTIVIDATION PROGRAMME

*He began this progp

ram programme in 1929.

*He believed this program would help in improving grain suppliy

all peasants were forced to culti cultivate in collective forms called Kol-hoz.

*On the contrary, this worsened the food supply situation. L
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CLASS-IX-A, SCIENCE- CH-8 MOTION
SOLUTION BY SIR SUJIT

Page No 100:

Question 1:An object has moved through a distance. Can it have zero displacement? If yes, support
your Ans: with an example.

ANS:Yes. An object that has moved through a distance can have zero displacement. Displacement is the
shortest measurable distance between the initial and the final position of an object. An object which has
covered a distance can have zero displacement, if it comes back to its starting point, i.e., the initial
position.

Consider the following situation. A man is walking in a square park of length 20 m (as shown in the
following figure). He starts walking from point A and after moving along all the corners of the park (point
B, C, D), he again comes back to the same point, i.e., A.

P |

H A m (

In this case, the total distance covered by the manis20m +20 m + 20 m
+ 20 m = 80 m. However, his displacement is zero because the shortest distance between his initial and final
position is zero.

Question 2: A farmer moves along the boundary of a square field of side 10 m in 40 s. What will be the
magnitude of displacement of the farmer at the end of 2 minutes 20 seconds?
ANS:The farmer takes 40 s to cover 4 x 10 =40 m.

4

= UI:.c]4U: 140 m
In 2 min and 20 s (140 s), he will cover a distance

Therefore, the farmer completes dg " rounds (3 complete rounds and a half round) of the field in 2
min and 20 s.

That means, after 2 min 20 s, the farmer will be at the opposite end of the starting point.
Now, there can be two extreme cases.

Case I: Starting point is a corner point of the field.

In this case, the farmer will be at the diagonally opposite corner of the field after 2 min 20 s.

Therefore, the displacement will be equal to the diagonal of the field.

¥ ERT N
Hence, the displacement will be LR IEE R

Case II: Starting point is the middle point of any side of the field.



In this case the farmer will be at the middle point of the opposite side of the field after 2 min 20 s.

Therefore, the displacement will be equal to the side of the field, i.e., 10 m.

For any other starting point, the displacement will be between 14.1 m and 10 m.

Question 3:

Which of the following is true for displacement?

(a) It cannot be zero.

(b) Its magnitude is greater than the distance travelled by the object.

ANS:(a) Not true: Displacement can become zero when the initial and final position of the object is the
same.

(b) Not true: Displacement is the shortest measurable distance between the initial and final positions of an

object. It cannot be greater than the magnitude of the distance travelled by an object. However,
sometimes, it may be equal to the distance travelled by the object.
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Question 1: Distinguish between speed and velocity.
ANS:
Speed Velocity
Speed is the distance travelled by an object in a given Velocity is the displacement of an object in a given
interval of time. It does not have any direction. interval of time. It has a unique direction.
Speed is given by the relation: Velocity is given by the relation:
Speed = Di Rta_nce travelled Velocity = lJ.inlﬂ_::emenL
Time taken Time interval
The speed of an object can never be negative. At the The velocity of an object can be negative, positive, or
most, it can become zero. This is because distance equal to zero. This is because displacement can take
travelled can never be negative. any of these three values.

Question 2: Under what condition(s) is the magnitude of average velocity of an object equal to its
average speed?
ANS:

Total distance covered
Average speed = -
Total time taken

Displacement

Average velocity = _
Total time taken

If the total distance covered by an object is the same as its displacement, then its average speed would
be equal to its average velocity.

Question 3: What does the odometer of an automobile measure?



ANS: The odometer of an automobile measures the distance covered by an automobile.

Question 4: What does the path of an object look like when it is in uniform motion?
ANS: An object having uniform motion has a straight line path.

Question 5: During an experiment, a signal from a spaceship reached the ground station in five
minutes. What was the distance of the spaceship from the ground station? The signal travels at the speed
of light, thatis, 3 x 108 m s".

ANS: Time taken by the signal to reach the ground station from the spaceship

=5min=5%x60=300s

Speed of the signal = 3 x 108 m/s

Distance travelled

Speed _
Timetaken

~Distance travelled = Speed x Time taken =3 x 102 x 300 =9 x 10" m
Hence, the distance of the spaceship from the ground station is 9 x 10" m.

Page No 103:

Question 1: When will you say a body is in (i) uniform acceleration? (ii) non-uniform acceleration?
ANS:

(i) A body is said to have uniform acceleration if it travels in a straight path in such a way that its velocity
changes at a uniform rate, i.e., the velocity of a body increases or decreases by equal amounts in an
equal interval of time.

(ii) A body is said to have non-uniform acceleration if it travels in a straight path in such a way that its
velocity changes at a non-uniform rate, i.e., the velocity of a body increases or decreases in unequal
amounts in an equal interval of time.

Question 2: A bus decreases its speed from 80 km h~' to 60 km h-'in 5 s. Find the acceleration of the
bus.

ANS: Initial speed of the bus, u = 80 km/h 18

=60x - 16.66 m/s
Final speed of the bus, v =60 km/h

Time take to decrease the speed, t=5s

. v .
Acceleration, a = ==1.112 m/s"

f 5
Here, the negative sign of acceleration indicates that the velocity of the car is decreasing.

Question 3: A train starting from a railway station and moving with uniform acceleration attains a speed
40 km h"in 10 minutes. Find its acceleration.
ANS: Initial velocity of the train, u = 0 (since the train is initially at rest)

=4 = 2 =11.11 m/s
Final velocity of the train, v =40 km/h



Time taken, t =10 min =10 x 60 =600 s

v—fr_ll.ll—t}

Acceleration, o = =
! a0

=0.0185 m/s’

Hence, the acceleration of the train is 0.0185 m/s2.
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Question 1: What is the nature of the distance-time graphs for uniform and non-uniform motion of an

object?
ANS:The distance-time graph for uniform motion of an object is a straight line (as shown in the following

figure).

A

—

Mistance

>
Tinw ——————pp

The distance-time graph for non-uniform motion of an object is a curved line (as shown in the given
figure).

4

—

Mistance

Question 2:What can you say about the motion of an object whose distance—time graph is a straight line

parallel to the time axis?
ANS:

When an object is at rest, its distance—time graph is a straight line parallel to the time axis.

A

—

Mistance

Time ————



A straight line parallel to the x-axis in a distance—-time graph indicates that with a change in time, there is
no change in the position of the object. Thus, the object is at rest.

Question 3: What can you say about the motion of an object if its speed-time graph is a straight line

parallel to the time axis?
ANS:Object is moving uniformly.

4

Speed ———»

.
-

Time S

A straight line parallel to the time axis in a speed—time graph indicates that with a change in time, there is
no change in the speed of the object. This indicates the uniform motion of the object.

Question 4: What is the quantity which is measured by the area occupied below the velocity-time
graph?
ANS:Distance

A

—

Velocity
= b.--..-n..l

-

I'ime -
The graph shows the velocity—time graph of a uniformly moving body.
Let the velocity of the body at time (t) be v.

Area of the shaded region = length x breath

Where,
Length =t
Breath=v

Area = vt = velocity x time ...(J)
We know,
Velocity = DisplacementTIme Velocity = DisplacementTIme

-~ Displacement = Velocity x Time...(ii)
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From equations (i) and (ii),
Area = Displacement

Hence, the area occupied below the velocity—-time graph measures the displacement covered by the
body.
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Question 1: A bus starting from rest moves with a uniform acceleration of 0.1 m s for 2 minutes. Find
(a) the speed acquired, (b) the distance travelled.

ANS:(a) 12 m/s (b) 720 m

(a) Initial speed of the bus, u = 0 (since the bus is initially at rest)

Acceleration, a = 0.1 m/s?

Time taken, t =2 minutes =120 s

Let v be the final speed acquired by the bus.

) v—u
Las=

I
_v=0
120

~v=12m/s

(b) According to the third equation of motion:

V2 — U2 =2as

Where, s is the distance covered by the bus

(122 - (02 =2(0.1) s

§=720m

Speed acquired by the bus is 12 m/s.

Distance travelled by the bus is 720 m.

Question 2:A train is travelling at a speed of 90 km h-". Brakes are applied so as to produce a uniform
acceleration of —0.5 m s2. Find how far the train will go before it is brought to rest.
ANS:Initial speed of the train, u =90 km/h = 25 m/s

Final speed of the train, v = 0 (finally the train comes to rest)

Acceleration = -0.5 m s2

According to third equation of motion:

V2=u2+2as

(0)2 = (25)2 + 2 (-0.5) s



Where, s is the distance covered by the train

(25
S 2(0.5)

=625 m

The train will cover a distance of 625 m before it comes to rest.

Question 3:A trolley, while going down an inclined plane, has an acceleration of 2 cm s2. What will be its
velocity 3 s after the start?

ANS:Initial velocity of the trolley, u = 0 (since the trolley was initially at rest)

Acceleration, a =2 cm s2 = 0.02 m/s?

Time, t=3s

According to the first equation of motion:

v=u+at

Where, v is the velocity of the trolley after 3 s from start

v=0+0.02x3=0.06m/s

Hence, the velocity of the trolley after 3 s from start is 0.06 m/s.

Quegtion 4:A racing car has a uniform acceleration of 4 m s2. What distance will it cover in 10 s after
,Sofra\lré:lnitial velocity of the racing car, u = 0 (since the racing car is initially at rest)

Acceleration, a = 4 m/s?

Time taken, t=10s

According to the second equation of motion:

i
& =g _'_u--;-“l
4

Where, s is the distance covered by the racing car

g=04 l x4x(10) = 42’“: 200 m

Hence, the distance covered by the racing car after 10 s from start is 200 m.

Question 5:A stone is thrown in a vertically upward direction with a velocity of 5 m s™'. If the acceleration
of the stone during its motion is 10 m s in the downward direction, what will be the height attained by the
stone and how much time will it take to reach there?

ANS: Initially, velocity of the stone,u =5 m/s

Final velocity, v = 0 (since the stone comes to rest when it reaches its maximum height)

Acceleration of the stone, a = acceleration due to gravity, g = 10 m/s?



(in downward direction)

There will be a change in the sign of acceleration because the stone is being thrown upwards.
Acceleration, a = -10 m/s?

Let s be the maximum height attained by the stone in time t.

According to the first equation of motion:

v=u+at

0=5+(-10) ¢

LN

= =055
=10

According to the third equation of motion:
Vv=ur+2as

(0 = (3¢ +2(-10) s

51

5= =125m

20
Hence, the stone attains a height of 1.25 min 0.5 s.
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Question 1:An athlete completes one round of a circular track of diameter 200 m in 40 s. What will be
the distance covered and the displacement at the end of 2 minutes 20 s?

ANS:Diameter of a circular track, d =200 m

#
—= PR

Radius of the track, r= -£
Circumference = 21rr = 21 (100) = 200Tm m

In 40 s, the given athlete covers a distance of 2001 m.

In 1 s, the given athlete covers a distance = it
The athlete runs for 2 minutes 20 s =140 s

47
140 s = 20022

~Total distance covered in 407

x140=2200 m

The athlete covers one round of the circular track in 40 s. This means that after every 40 s, the athlete
comes back to his original position. Hence, in 140 s he had completed 3 rounds of the circular track and is
taking the fourth round.



He takes 3 rounds in 40 x 3 = 120 s. Thus, after 120 s his displacement is zero.

Then, the net displacement of the athlete is in 20 s only. In this interval of time, he moves at the opposite
end of the initial position. Since displacement is equal to the shortest distance between the initial and final
position of the athlete, displacement of the athlete will be equal to the diameter of the circular track.

=~ Displacement of the athlete = 200 m

Distance covered by the athlete in 2 min 20 s is 2200 m and his displacement is
200 m.

Question 2:Joseph jogs from one end A to the other end B of a straight 300 m road in 2 minutes 30
seconds and then turns around and jogs 100 m back to point C in another 1 minute. What are Joseph’s
average speeds and velocities in jogging (a) from A to B and (b) from A to C?

ANS:(a) 2 m/s, 2 m/s (b) 1.90 m/s, 0.95 m/s

(@) Fromend Atoend B

A - - S B
- VN m >

Distance covered by Joseph while jogging from A to B = 300 m
Time taken to cover that distance = 2 min 30 seconds = 150 s

Total distance covered
Average speed = -
Total time taken

Total distance covered = 300 m
Total time taken = 150 s
Average speed = 300150 = 2 m/sAverage speed = 300150 =2 m/s

. Displacement
Average velocity = — b .
['ime interval

Displacement = shortest distance between A and B = 300 m

Time interval = 150 s

Average velocity = 300150 = 2 m/sAverage velocity = 300150 =2 m/s

The average speed and average velocity of Joseph from A to B are the same and equal to 2 m/s.

(b) Fromend Atoend C

(
e e e ® - @ !
44— 200 m - ol = | LX) =

G U ) —

Total distance covered
Average speed = :
Total time taken
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Total distance covered = Distance from A to B + Distance from B to C
=300 + 100 =400 m
Total time taken = Time taken to travel from A to B + Time taken to travel from B to C =150 + 60 =210 s
Average speed = 400210 = 1.90 m/sAverage speed = 400210 = 1.90 m/s

. Displacement
Average velocity = — P .
['ime interval

Displacement from Ato C = AC = AB - BC =300 - 100 = 200 m

Time interval = time taken to travel from A to B + time taken to travel from B to C
=150+60=210s

Average velocity = 200210 = 0.95 m/sAverage velocity = 200210 = 0.95 m/s

The average speed of Joseph from A to C is 1.90 m/s and his average velocity is 0.95 m/s.

Question 3:Abdul, while driving to school, computes the average speed for his trip to be 20 km h-'. On
his return trip along the same route, there is less traffic and the average speed is 30 km h-'. What is the
average speed for Abdul’s trip?

ANS:Case I: While driving to school

Average speed of Abdul’s trip = 20 km/h

l'otal distance
Average speed =— -
I'otal time taken

Total distance = Distance travelled to reach school = d

Let total time taken =t

of
- .ﬁ: = 'T‘

e

T —

L)
Case II: While returning from school
Total distance = Distance travelled while returning from school = d
Now,total time taken = t;

30=det2=d30 ..... (11)30=dt2t2=d30 ..... (ii)
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. L Total distance covered in the trip
Average speed for Abdul’s trip = - : E
['otal time taken

Where,

Total distance covered in the trip = d + d = 2d

Total time taken, t = Time taken to go to school + Time taken to return to school
=h+t

2d

. Averagespeed =
1+,

From equations (/) and (i),

Average Speed=2dao+i=2320Average Speed=1205=24 km/hAverage Speed=2dd20+d30=23+260Aver
age Speed=1205=24 km/h

Hence, the average speed for Abdul’s trip is 24 km/h.

Question 4:A motorboat starting from rest on a lake accelerates in a straight line at a constant rate of 3.0
m s for 8.0 s. How far does the boat travel during this time?

ANS:Initial velocity, u = 0 (since the motor boat is initially at rest)

Acceleration of the motorboat, a = 3 m/s?

Time taken, t=8s

According to the second equation of motion:

i
& =g *_—"-'.i‘.l:"1
A

Distance covered by the motorboat, s
] - 2
s=04 . 3«(B)y =9m

Hence, the boat travels a distance of 96 m.

Question 5:A driver of a car travelling at 52 km h~" applies the brakes and accelerates uniformly in the
opposite direction. The car stops in 5 s. Another driver going at 3 km h-' in another car applies his brakes
slowly and stops in 10 s. On the same graph paper, plot the speed versus time graphs for the two cars.
Which of the two cars travelled farther after the brakes were applied?

ANS:Case A:

Initial speed of the car, us = 52 km/h = 14.4 m/s

Time taken to stop the car, t: =5 s

Final speed of the car becomes zero after 5 s of application of brakes.



Case B:

Initial speed of the car, u. =3 km/h = 0.833 m/s = 0.83 m/s

Time taken to stop the car, .= 10 s

Final speed of the car becomes zero after 10 s of application of brakes.

Plot of the two cars on a speed-time graph is shown in the following figure:

A

A A

Soeed (s} =t
- - 4 > o0
oy a

Distance covered by each car is equal to the area under the speed—time graph.

Distance covered in case A,

1 . 1
=—xOPx0OR =—x144x5=36 m
St 2 2

Distance covered in case B,

=lx{}f-§‘xf['}q =lxﬂ.83‘xll}= 4.15m
s, 2 2

Area of AOPR > Area of AOSQ

Thus, the distance covered in case A is greater than the distance covered in case B.

Hence, the car travelling with a speed of 52 km/h travels farther after brakes were applied.

Question 6:

Fig 8.11 shows the distance-time graph of three objects A, B and C. Study the graph and Ans: the

following questions:
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(a) Which of the three is travelling the fastest?

(b) Are all three ever at the same point on the road?
(c) How far has C travelled when B passes A?
(d)How far has B travelled by the time it passes C?

ANS:
(a) ObjectB (b) No (¢) 5.714km (d) 5.143km

u o
12 ottt gt -
5
I 4
2
s 44
() 1 1 L2 L
) 4 08 12 16
Time (howr ) -
. Distance
Speed =——
(a) Time

r—axis  Distance

Slope of graph = 2 =—
r—axis Time

~Speed = slope of the graph

Since slope of object B is greater than objects A and C, it is travelling the fastest.
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(b) All three objects A, B and C never meet at a single point. Thus, they were never at the same point on

road.

()



...............

Hr

.
L
T

Distance (km) ———p=

L
0ns 0% 1.2 16

Time (howr)
On the distance axis:
7 small boxes =4 km

E.

"]
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~1 small box

Initially, object C is 4 blocks away from the origin.

o

-]

)

~Initial distance of object C from origin=
Distance of object C from origin when B passes A = 8 km

51020216 395514 km
Distance covered by C 7 7 7

Hence, C has travelled a distance of 5.714 km when B passes A.

(d)

s

.-
e

Distance (km) ————t=
x>

Q0

Time (howr)

-

Distance covered by B at the time it passes C = 9 boxes

=_x9=

7

36
2= 5143 km
-

Hence, B has travelled a distance of 5.143 km when B passes A.
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Question 7:A ball is gently dropped from a height of 20 m. If its velocity increases uniformly at the rate of
10 m s, with what velocity will it strike the ground? After what time will it strike the ground?
ANS:Distance covered by the ball, s=20 m

Acceleration, a = 10 m/s?

Initially, velocity, u = 0 (since the ball was initially at rest)

Final velocity of the ball with which it strikes the ground, v

According to the third equation of motion:

V2=u+2as

v2=0+2(10) (20)

v=20m/s

According to the first equation of motion:

v=u+at

Where,

Time, t taken by the ball to strike the ground is,

20=0+10 (%)

t=2s

Hence, the ball strikes the ground after 2 s with a velocity of 20 m/s.

Question 8:

The speed-time graph for a car is shown is Fig. 8.12.

| O 8
TFime (5) s

Fig. 8.12

(a) Find out how far the car travels in the first 4 seconds. Shade the area on the graph that represents the
distance travelled by the car during the period.

(b) Which part of the graph represents uniform motion of the car?
ANS:

(@)
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o Time(s)

]— «4dxb=12m
The shaded area which is equal to 2 represents the distance travelled by the car in the first
4s.

—
O
~

1

L s
!

Speed (M s l| —-
o

-
-4

' ; T
a ) b 8
Fime (5] s

The part of the graph in red colour between time 6 s to 10 s represents uniform motion of the car.
Question 9:

State which of the following situations are possible and give an example for each of these:
(a) an object with a constant acceleration but with zero velocity.

(b) an object moving in a certain direction with an acceleration in the perpendicular direction.
ANS:

(a) Possible

When a ball is thrown up at maximum height, it has zero velocity, although it will have constant
acceleration due to gravity, which is equal to 9.8 m/s2.

(b) Possible

When a car is moving in a circular track, its acceleration is perpendicular to its direction.

Question 10:An artificial satellite is moving in a circular orbit of radius 42250 km. Calculate its speed if it
takes 24 hours to revolve around the earth.
ANS:

Speed = DistanceTimeDistance = 2nr = 2x3.14x42250 = 265330 km Time = 24 hSpeed = 26533024 = 11
055.4 km/h



	CLASS-IX-A, SCIENCE- CH-8 MOTION
	SOLUTION BY SIR SUJIT
	Page No 100:
	Question 1:An object has moved through a distance. Can it have zero displacement? If yes, support your Ans: with an example.
	Question 1:An object has moved through a distance. Can it have zero displacement? If yes, support your Ans: with an example.
	ANS:Yes. An object that has moved through a distance can have zero displacement. Displacement is the shortest measurable distance between the initial and the final position of an object. An object which has covered a distance can have zero displacemen...
	ANS:Yes. An object that has moved through a distance can have zero displacement. Displacement is the shortest measurable distance between the initial and the final position of an object. An object which has covered a distance can have zero displacemen...
	Consider the following situation. A man is walking in a square park of length 20 m (as shown in the following figure). He starts walking from point A and after moving along all the corners of the park (point B, C, D), he again comes back to the same p...
	Question 2: A farmer moves along the boundary of a square field of side 10 m in 40 s. What will be the magnitude of displacement of the farmer at the end of 2 minutes 20 seconds?
	Question 2: A farmer moves along the boundary of a square field of side 10 m in 40 s. What will be the magnitude of displacement of the farmer at the end of 2 minutes 20 seconds?
	ANS:The farmer takes 40 s to cover 4 × 10 = 40 m.
	In 2 min and 20 s (140 s), he will cover a distance
	Question 3:
	ANS:(a) Not true: Displacement can become zero when the initial and final position of the object is the same.
	ANS:(a) Not true: Displacement can become zero when the initial and final position of the object is the same.
	Question 1: Distinguish between speed and velocity.
	ANS:
	Question 2: Under what condition(s) is the magnitude of average velocity of an object equal to its average speed?
	Question 2: Under what condition(s) is the magnitude of average velocity of an object equal to its average speed?
	ANS:
	Question 3: What does the odometer of an automobile measure?
	ANS: The odometer of an automobile measures the distance covered by an automobile.   Question 4: What does the path of an object look like when it is in uniform motion?
	ANS: The odometer of an automobile measures the distance covered by an automobile.   Question 4: What does the path of an object look like when it is in uniform motion?
	ANS: An object having uniform motion has a straight line path.   Question 5: During an experiment, a signal from a spaceship reached the ground station in five minutes. What was the distance of the spaceship from the ground station? The signal travels...
	ANS: An object having uniform motion has a straight line path.   Question 5: During an experiment, a signal from a spaceship reached the ground station in five minutes. What was the distance of the spaceship from the ground station? The signal travels...
	ANS: Time taken by the signal to reach the ground station from the spaceship
	Question 1: When will you say a body is in (i) uniform acceleration? (ii) non-uniform acceleration?
	ANS:
	(i) A body is said to have uniform acceleration if it travels in a straight path in such a way that its velocity changes at a uniform rate, i.e., the velocity of a body increases or decreases by equal amounts in an equal interval of time.
	ANS: Initial speed of the bus, u = 80 km/h
	ANS: Initial velocity of the train, u = 0 (since the train is initially at rest)
	Question 1: What is the nature of the distance−time graphs for uniform and non-uniform motion of an object?
	Question 1: What is the nature of the distance−time graphs for uniform and non-uniform motion of an object?
	ANS:The distance−time graph for uniform motion of an object is a straight line (as shown in the following figure).
	ANS:The distance−time graph for uniform motion of an object is a straight line (as shown in the following figure).
	Question 2:What can you say about the motion of an object whose distance−time graph is a straight line parallel to the time axis?
	Question 2:What can you say about the motion of an object whose distance−time graph is a straight line parallel to the time axis?
	ANS:
	ANS:Object is moving uniformly.
	ANS:Distance
	Question 1: A bus starting from rest moves with a uniform acceleration of 0.1 m s−2 for 2 minutes. Find (a) the speed acquired, (b) the distance travelled.
	Question 1: A bus starting from rest moves with a uniform acceleration of 0.1 m s−2 for 2 minutes. Find (a) the speed acquired, (b) the distance travelled.
	ANS:(a) 12 m/s (b) 720 m
	Question 2:A train is travelling at a speed of 90 km h−1. Brakes are applied so as to produce a uniform acceleration of −0.5 m s−2. Find how far the train will go before it is brought to rest.
	Question 2:A train is travelling at a speed of 90 km h−1. Brakes are applied so as to produce a uniform acceleration of −0.5 m s−2. Find how far the train will go before it is brought to rest.
	ANS:Initial speed of the train, u = 90 km/h = 25 m/s
	Question 3:A trolley, while going down an inclined plane, has an acceleration of 2 cm s−2. What will be its velocity 3 s after the start?
	Question 3:A trolley, while going down an inclined plane, has an acceleration of 2 cm s−2. What will be its velocity 3 s after the start?
	ANS:Initial velocity of the trolley, u = 0 (since the trolley was initially at rest)
	Question 4:A racing car has a uniform acceleration of 4 m s−2. What distance will it cover in 10 s after start?
	Question 4:A racing car has a uniform acceleration of 4 m s−2. What distance will it cover in 10 s after start?
	ANS:Initial velocity of the racing car, u = 0 (since the racing car is initially at rest)
	ANS: Initially, velocity of the stone,u = 5 m/s
	Question 1:An athlete completes one round of a circular track of diameter 200 m in 40 s. What will be the distance covered and the displacement at the end of 2 minutes 20 s?
	Question 1:An athlete completes one round of a circular track of diameter 200 m in 40 s. What will be the distance covered and the displacement at the end of 2 minutes 20 s?
	ANS:Diameter of a circular track, d = 200 m
	ANS:(a) 2 m/s, 2 m/s (b) 1.90 m/s, 0.95 m/s
	Question 3:Abdul, while driving to school, computes the average speed for his trip to be 20 km h−1. On his return trip along the same route, there is less traffic and the average speed is 30 km h−1. What is the average speed for Abdul’s trip?
	Question 3:Abdul, while driving to school, computes the average speed for his trip to be 20 km h−1. On his return trip along the same route, there is less traffic and the average speed is 30 km h−1. What is the average speed for Abdul’s trip?
	ANS:Case I: While driving to school
	ANS:Initial velocity, u = 0 (since the motor boat is initially at rest)
	Question 5:A driver of a car travelling at 52 km h−1 applies the brakes and accelerates uniformly in the opposite direction. The car stops in 5 s. Another driver going at 3 km h−1 in another car applies his brakes slowly and stops in 10 s. On the same...
	Question 5:A driver of a car travelling at 52 km h−1 applies the brakes and accelerates uniformly in the opposite direction. The car stops in 5 s. Another driver going at 3 km h−1 in another car applies his brakes slowly and stops in 10 s. On the same...
	ANS:Case A:
	Question 6:
	ANS:
	Question 7:A ball is gently dropped from a height of 20 m. If its velocity increases uniformly at the rate of 10 m s−2, with what velocity will it strike the ground? After what time will it strike the ground?
	Question 7:A ball is gently dropped from a height of 20 m. If its velocity increases uniformly at the rate of 10 m s−2, with what velocity will it strike the ground? After what time will it strike the ground?
	ANS:Distance covered by the ball, s = 20 m
	Question 8:
	ANS:
	Question 9:
	ANS:
	Question 10:An artificial satellite is moving in a circular orbit of radius 42250 km. Calculate its speed if it takes 24 hours to revolve around the earth.
	Question 10:An artificial satellite is moving in a circular orbit of radius 42250 km. Calculate its speed if it takes 24 hours to revolve around the earth.
	ANS:

